Cll# OrnpeneneHue TUIIOB TPEYTOJIbHUKOB Nwmsi:

Omnpenesanre, IBJASETCH JTH KAaXKAbIA TPEYT0JbHUK OCTPBIM (A), TynbIM (O) WM NpAMbIM
(R), a Tak:ke paBHocTopoHHNM (E), paBHoOenpennsiM (1) nim pasnocroponnum (S).

/ Acute Triangle:
All angles are less than 90°.
Obtuse Triangle:
One angle is greater than 90°.

Equilateral Triangle: \
3 equal sides. 3 equal angles.
Isosceles Triangle:

2 equal sides. 2 equal angles.

OTBeThI

Right Triangle: Scalene Triangle:
&One angle is 90°. No equal sides. No equal angles. /
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‘::j_':l—‘ OHpeI[eJIeHI/Ie THUIIOB TPCYI'OJIbHUKOB Nwms: Ka04 K NIpaBUIbHBIM O0TBETAM

Onpenennre, ABJIACTCS JIM KK TPEYroJbHUK OCTPBIM (A), TynbiM (OQ) Win NpsiMbIM OTBeTHI
(R), a Tak:ke paBHOcTOpOoHHUM (E), paBHoOenpennbim (1) nim pazHocTtopoHHuMm (S).
/ Acute Triangle: Equilateral Triangle: \ 1 R1
All angles are less than 90°. 3 equal sides. 3 equal angles.
Obtuse Triangle: Isosceles Triangle: AE
One angle is greater than 90°. 2 equal sides. 2 equal angles. 2.
Right Triangle: Scalene Triangle:
&One angle is 90°. No equal sides. No equal angles. j 3 Ol
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